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3 (Sem–6) PSC M 3 (C/D)
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POLITICAL SCIENCE

( Major )

Paper : 6.3

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

OPTION—C

( POLITICS IN NORTH-EAST INDIA )

1. Answer the following questions : 1×5=5

t¡ºt¡ [ƒÚà šøÅ¥Î³èÒ¹ l¡üv¡¹ [ºJà :

(a) When was the North-East State
Re-organization Act signed?

l¡üv¡¹-šè¤¹ ¹à[\¸A¡ šå>¹ Kk¡> "àÒü> ëA¡[t¡Úà Ñ¬àÛ¡[¹t¡
íÒ[áº?

(  2  )

(b) Who was the Governor of Assam at the
time of Indian independence?

®¡à¹ìt¡ Ñ¬à‹ã>t¡à ºà®¡ A¡¹à¹ Î³Út¡ "Î³¹ ¹à\¸šàº
ëA¡à> "à[áº?

(c) Who is the first woman finance minister
of Assam Legislative Assembly?

"Î³ [¤‹à>Î®¡à¹ šø=³K¹àA¡ã ³[Òºà [¤v¡³”|ã¹ >à³
[A¡?

(d) What is the full form of BTR?

BTR¹ Î´šèo¢ ¹ê¡šìi¡à [ºJà¡ú

(e) Which territory of Assam had to lose
after the Partition of the country?

®¡à¹t¡ [¤®¡à\>¹ Î³Út¡ "Îì³ ëA¡à>ìi¡à "}Å ëÒ¹ç¡¯àÒü
[áº?

2. Answer the following questions : 2×5=10

t¡ºt¡ [ƒÚà šøÅ¥Î³èÒ¹ l¡üv¡¹ [ºJà :

(a) When was Manipur integrated to India
and who was the then king of Manipur?

³[ošå¹ ®¡à¹t¡¹ íÎìt¡ ëA¡[t¡Úà W¡à[³º íÒ[áº "à¹ç¡ ëÎÒü
Î³Út¡ ³[ošå¹¹ ¹\à\> ëA¡à> "à[áº?

(b) Write two objectives of MNF.

MNF¹ ƒåi¡à l¡üì„Å¸ [ºJà¡ú
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(c) NSCN (National Socialist Council of
Nagaland) has two factions. What are
they?

NSCN¹ ëKài¡ ƒåi¡à¹ >à³ [A¡ [A¡?

(d) Name two important Language
Movements in North-East India.

l¡üv¡¹-šè¤ ®¡à¹t¡t¡ ëÒà¯à ƒåi¡à P¡¹ç¡â«šèo¢ ®¡àÈà
"àì@ƒàº>¹ >à³ [ºJà¡ú

(e) Mention the names of the Plains Tribes
that were given autonomy in 1995.

1995 W¡>t¡ Ñ¬àÚâ«ÅàÎ> šøƒà> A¡¹à í®¡Úà³
\>\à[t¡ìA¡Òüi¡à¹ >à³ l¡üìÀJ A¡¹à¡ú

3. Answer/Write notes on any three of the
following : 5×3=15

t¡ºt¡ [ƒÚà [™ ëA¡àì>à [t¡[>i¡à¹ l¡üv¡¹/ëi¡àA¡à [ºJà :

(a) Write briefly about the famine in
Mizoram.

[³ì\à¹à³t¡ ëƒJà [ƒÚà ƒå[®¢¡Û¡¹ [¤ÈìÚ W¡³åîA¡ [ºJà¡ú

(b) Discuss the Assam Accord.

"Î³ Wå¡[v¡û¡¹ [¤ÈìÚ "àìºàW¡>à A¡¹à¡ú

(  4  )

(c) Gopinath Bordoloi

ëKàšã>à= ¤¹ƒîº

(d) A. Z. Phizo

&. ë\l¡. [ó¡ì\à

(e) Write down the implications of

separation of Sylhet from Assam.

"Î³¹ š¹à [W¡ìºi¡J> šõ=A¡ ëÒà¯à¹ ó¡ºàó¡ºÎ³èÒ [ºJà¡ú

4. Answer any three of the following questions :
10×3=30

t¡ºt¡ [ƒÚà šøÅ¥Î³èÒ¹ [™ ëA¡àì>à [t¡[>i¡à¹ l¡üv¡¹ [ºJà :

(a) How was Manipur integrated with

India? Why was accession of Manipur

proved to be very difficult? Explain.

³[ošå¹ ®¡à¹t¡¹ íÎìt¡ ëA¡ì>ƒì¹ Î}ºN¥ íÒ[áº?

³[ošå¹A¡ ®¡à¹t¡¹ íÎìt¡ &A¡[yt¡ A¡¹àìi¡à [A¡Ú ™ì=Ê¡

A¡[k¡> [¤ì¤[W¡t¡ íÒ[áº? ¤¸àJ¸à A¡¹à¡ú

(b) Explain the impact of language politics
on political development of multilingual
Assam.

¤×®¡à[ÈA¡ "Î³¹ ¹à\î>[t¡A¡ [¤A¡àÅt¡ ®¡à[ÈA¡
¹à\>ã[t¡¹ šø®¡à¯ ¤¸àJ¸à A¡¹à¡ú
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(c) Discuss critically the circumstances
that led to the reorganization of North-
East India.

l¡üv¡¹-šè¤ ®¡à¹t¡¹ šå>¹ Kk¡>îº "àK¤Øn¡àÒü [>Úà
š[¹[Ñ‚[t¡ì¤à¹¹¡ &A¡ Î³àìºàW¡>àuA¡ "àìºàW¡>à A¡¹à¡ú

(d) Give an account of the refugee problem
after the Partition of India, specially
migration into North-East India.

®¡à¹t¡ [¤®¡à\>¹ [šát¡ ëƒJà [ƒÚà [¤ìÅÈîA¡ l¡üv¡¹-
šè¤îº šø¤ø\> ëÒà¯à Å¹oà=¢ã Î³Î¸à¹ [¤ÈìÚ ¤¸àJ¸à
A¡¹à¡ú

(e) Examine the main causes for the rise of
Language Movement in Assam.

"Î³t¡ Î}Q[i¡t¡ ëÒà¯à ®¡àÈà "àì@ƒàº>¹ l¡üŠ±¯¹ ³èº
A¡à¹oÎ³èÒ ¤¸àJ¸à A¡¹à¡ú

(  6  )

OPTION—D

( GENERAL SOCIOLOGY—II )

GROUP—A

1. Choose the correct answer : 1×5=5

Ç¡‡ý¡ l¡üv¡¹ìi¡à ¤à[á l¡ü[º*¯à :

(a) The author of the book, Primitive
Culture is

Primitive Culture >à³¹ Kø”‚J>¹ ëºJA¡ Ò’º

(i) MacIver

ë³A¡"àÒü®¡à¹

(ii) E. B. Tylor

Òü. [¤. i¡àÒüº¹

(iii) Friedrich Engels

ëóø¡lô¡[¹A¡ &ìgºôá

(b) The aim of social control is

Îà³à[\A¡ [>Ú”|o¹ ºÛ¡¸ Ò’º

(i) to establish social integrity

Îà³à[\A¡ Î}Ò[t¡ šø[t¡Ë¡à A¡¹à

(ii) to maintain social stability

Îà³à[\A¡ Îå[Ñ‚¹t¡à ¤\àÒü ¹Jà

(iii) Both (i) and (ii)

(i) "à¹ç¡ (ii) l¡ü®¡ìÚ
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(c) Cultural pattern reflects the mixture of
different cultural complexes.

Îà}ÑHõþ[t¡A¡ "à[Ò¢ìÚ [¤[®¡Ä Îà}ÑHõþ[t¡A¡ Î}ºN¥t¡à¹ [³ÅøoA¡
šø[t¡ó¡[ºt¡ A¡ì¹¡ú

(i) True

ÎòW¡à

(ii) False

[³áà

(d) Which among the following is an
informal mean of social control?

t¡º¹ ëA¡à>ìi¡à Îà³à[\A¡ [>Ú”|o¹ &i¡à ">à>åË¡à[>A¡
l¡üšàÚ?

(i) Coercion

¤ºšøìÚàK

(ii) Law

"àÒü>

(iii) Customs

šø=à

(  8  )

(e) The word ‘cultural lag’ was introduced
by

‘Îà}ÑHõþ[t¡A¡ [¤º´¬>’ Å¦ìi¡à l¡üŠ±à¯> A¡[¹[áº

(i) Ogburn

"K¤ào¢

(ii) Nimkoff

[>³ôA¡ó¡

(iii) Spencer

ëÑš>W¡à¹

2. Answer the following questions : 2×5=10

t¡ºt¡ [ƒÚà šøÅ¥Î³èÒ¹ l¡üv¡¹ [ºJà :

(a) Mention two features of culture.

Î}ÑHõþ[t¡¹ ƒåi¡à í¤[ÅÊ¡¸ l¡üìÀJ A¡¹à¡ú

(b) Write two differences between material
culture and non-material culture.

šà[=¢¯ (¤ÑñKt¡) Î}ÑHõþ[t¡ "à¹ç¡ "šà[=¢¯ ("¤ÑñKt¡)
Î}ÑHõþ[t¡¹ ³à\t¡ ƒåi¡à šà=¢A¡¸ [ºJà¡ú
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(c) What do you mean by customs?

šø=à ¤å[ºìº [A¡ ¤å\à?

(d) Mention two formal means of social
control.

Îà³à[\A¡ [>Ú”|o¹ ƒåi¡à "à>åË¡à[>A¡ l¡üšàÚ l¡üìÀJ A¡¹à¡ú

(e) Define culture.

Î}ÑHõþ[t¡¹ Î}`¡à [ƒÚà¡ú

3. Write short notes on any three of the
following : 5×3=15

t¡º¹ [™ ëA¡àì>à [t¡[>i¡à¹ *š¹t¡ W¡³å ëi¡àA¡à [ºJà :

(a) The role of folkways and mores as
means of social control

Îà³à[\A¡ [>Ú”|o¹ ³à‹¸³ [ÒW¡àìš ëºàA¡šø=à "à¹ç¡
ëºàA¡àW¡à¹¹ ®è¡[³A¡à

(b) The importance of inventions and
diffusion in the development of culture

Î}ÑHõþ[t¡¹ [¤A¡àÅt¡ l¡üŠ±à¯> "à¹ç¡ [¤Záå¹o¹ P¡¹ç¡â«

(c) The concept of social change

Îà³à[\A¡ š[¹¯t¢¡>¹ ‹à¹oà
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(d) Cultural lag

Îà}ÑHõþ[t¡A¡ [¤º´¬>

(e) The nature of social control

Îà³à[\A¡ [>Ú”|o¹ šøAõ¡[t¡

GROUP—B

4. Answer any three of the following questions :
10×3=30

t¡º¹ šøÅ¥Î³èÒ¹ [™ ëA¡àì>à [t¡[>i¡à¹ l¡üv¡¹ [ºJà :

(a) ‘‘Culture is the handiwork of man and
the medium through which he achieves
his end.’’ In the light of this statement,
analyze different functions of culture. 10

‘‘Î}ÑHõþ[t¡ Ò’º ³à>åÒ¹ Îõ[Ê¡ ™à¹ ³à‹¸ì³ì¹ ³à>åìÒ [>\
ºÛ¡¸t¡ l¡üš>ãt¡ Ò’¤ šàì¹¡ú’’ &Òü l¡ü[v¡û¡¹ "à‹à¹t¡
Î}ÑHõþ[t¡¹ [¤[®¡Ä A¡à™¢à¯ºã [¤ìÅÃÈo A¡¹à¡ú

(b) What do you mean by variability of
culture? Explain different factors of
cultural variability. 3+7=10

Îà}ÑHõþ[t¡A¡ [¤[®¡Ät¡à ¤å[ºìº [A¡ ¤å\à? Îà}ÑHõþ[t¡A¡
[¤[®¡Ät¡à¹ [¤[®¡Ä A¡à¹A¡Î³èÒ ¤o¢>à A¡¹à¡ú



1-21/944 3 (Sem–6) PSC M 3 (C/D)

(  11  )

(c) Identify the differences between formal
and informal means of social control. 10

Îà³à[\A¡ [>Ú”|o¹ "à>åË¡à[>A¡ "à¹ç¡ ">à>åË¡à[>A¡
³à‹¸³¹ ³à\t¡ šà=¢A¡¸ [¤W¡à¹ A¡¹à¡ú

(d) Do you think social control is necessary
for maintaining social order? Justify
your answer. 10

Îà³à[\A¡ Åõ}Jºà ¤\àÒü ¹Jà¹ ¤àì¤ Îà³à[\A¡ [>Ú”|o¹
šøìÚà\> ¤å[º tå¡[³ ®¡à¤àì>? ët¡à³à¹ l¡üv¡¹¹ ÎšìÛ¡
™å[v¡û¡ ƒìÅ¢à¯à¡ú

(e) Make a critical note on the impact of
culture on human civilization. 10

³à>¯ Î®¡¸t¡à¹ *š¹t¡ Î}ÑHõþ[t¡¹ šø®¡à¯ Î´šìA¢¡ &i¡à
Î³àìºàW¡>àuA¡ ëi¡àA¡à "àK¤ìØn¡à¯à¡ú




